SECTION A
Question 1
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QUESTION 2

Gr 8 MATHEMATICS JUNE 2014 EXAM

1 mark per row
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QUESTION 3

3.1.1 18 or 24 v'(accept either one) (1)
3.1.2 49V 1)
3.13 13V 1)
3.1.4 8 or 24 v'(accept either one) (2)
3.1.5 13v (1)
3.1.6 24v Q)
3.2
2| 360 vV forladder/factor tree, -1 per mistake
2| 180
2 90
3 45
3 15
5 5
1
360 = 23 x 32 x 5v (3)
[9]
QUESTION 4
41 2-4(-5v=22v 2
4.2 (16 x2v —8v)+3=8v 3)
3 15 . (3 2
43 (3+3)7+(G-9)~
6 15 8 21 8
=) x () =5 xi=ar 6)
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QUESTION 5

5.1 Fourterms v
52 v
53 2V
5.4 y?s + 7y% — 6y + 2v'v (-1 per error)
55 4 7(-1)2-6(-1) +2v
= —2+74+6+27 =142 v
QUESTION 6
6.1 3av
6.2 a3v
6.3 —6av
6.4 —3a?+5a?v'=2a*v
6.5 —8x3vv
6.6 —15a*bev vV
6.7 4a®bh®v vV
6.8  3xZyv —5xy?v
6.9 -3x+6v—-8x—12v'=—-11lx—-6v"V
6.10 4’;;’
611 X v=1v
6.12 8a*e®vvVv
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6.13 5a+2c+4bv vV (3)

[30]

QUESTION 7
711 x+3v 1)
712 p—5v (1)
713 mnv (1)
7.1.4 5x%*v )
715 4(x+y)VV )
721 x=—-14v (1)
722 x=-72 (1)
7.23 12v'=3xv

x=4v 3)
724 4x—8v —2x—2v' =4

2x = 14V

x=7v 4
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QUESTION 8

8.1.1 Reflexv’

8.1.2 70°v

8.1.3 Scalene v

8.1.4 Complementary v

8.1.5 180" v

8.2.1 Angles on a straight line v/
8.2.2 Vertically opp. v

8.2.3 Revolution v’

8.2.4 Co-interior angles PQ| |RSY
8.2.5 Alternate angles PQ| |RSY

8.2.6 Corresponding angles RS||TUY

8.3.1 b =35° Vertically opposite angles v/

c = 45° Angles on a straight line v/
8.3.2 h=285° Ext. angles of AV’
8.3.3 k=44° Isosceles AV’

8.3.4 x =160° Alt. angles AB| |CDv

y = 20° Angles on a straight linev’

1)
(1)
(1)
1)
(1)

1)
1)
(1)
1)
1)
1)

(2)

(1)
1)
(1)
1)

No reason, no mark. No// lines named, no mark &
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Total section A: 105



SECTION B

QUESTION 9

4a*b®5ab?v"_ 20a°p10

= v = 2a3p10 v
10a2v 10a2

9.1.1

16x°
2x3

9.1.2 —8x3 =8x3v—-8x3v'=0v

9.1.3 2a®bh+2ab3®v'—a3b —2ab3v ' =a3bv’

9.2 5x2—-5xy+9vvVv
9.3 61(2+3+5)v" =610+ (do not accept long multiplication)

94 A+90=160 v

A=70v
X =20V
QUESTION 10
10.1.1 2m —12 = 24V
2m = 36
m=19v
10.1.2 —18 + 3yv + 2y =9+ 2y2 + 6yv
—3y =27V
y=-9v
10.1.3 2x—3=2x—-8v
—3=-8v

~ False equationv’

(4)
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102 x+x+1+x+2=72v
3x = 69v
x =23V

. Her birthday is the 24th of Aprilv’

QUESTION 11
11.1 60V

11.2 85V

11.3 35°+3x —30°+ 2x + 25° = 180°
reason provided and equation is correct)

5x + 30° = 180°
5x = 150°V

x = 30°V

y = 85°V

z = 60°v

11.4.1 180V

11.4.230 + 30+ + 3;—0 v =70°v

(4)
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1)
(1)

Angles on a str line v'(give mark if no

Corr. angles ST| |QRY
Co-int angles ST| |QRY
()
(1)
3
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Total section B: 45

Total: 150



